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 BGYCT-131  

BACHELOR OF SCIENCE (B.Sc.) GENERAL 

(BSCG) 

Term-End Examination 

December, 2022  

BGYCT-131 : PHYSICAL AND STRUCTURAL 

GEOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  All questions are compulsory. Marks allotted for 

each question are indicated against it. Draw well 

labelled diagrams, wherever necessary. 

1. Briefly explain any five from the following : 52=10 

(a) Caldera  

(b) Tsunami 

(c) Rock cycle 

(d) Knick point 

(e) Porosity 

(f) Kink fold  

(g) Field geology 

(h) What is a sample ? 

(i) Mountain chain 

(j) Gondwana land  
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2. Write short notes on any four of the  

following : 45=20 

(a) Convection in mantle and core  

(b) Biological weathering 

(c) Stages of river 

(d) Glacier and its types 

(e) Linear structures found in rocks  

(f) Criteria for recognition of faults in field  

(g) Non-tectonic joints  

(h) Evidences of seafloor spreading  

3. Answer any one of the following : 110=10 

(a) Discuss the methods of age determination of 

rocks and of the Earth.  

       OR 

(b) Give the plate tectonics explanation of 

earthquakes, volcanoes and mountain 

building. 

4. Answer any one of the following : 5+5=10 

(a) (i)  Discuss how geology differs from other 

sciences. 

(ii) Explain surface manifestations of 

underground water.  

        OR 

(b) (i)  Write a note on the classification of 

folds based on interlimb angle.  

(ii) Describe evidences of orogenic 

processes.  
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 ~r.Or.dmB©.gr.Q>r.-131  

{dkmZ ñZmVH$ (~r.Eg gr.) gm_mÝ`  

(~r.Eg.gr.Or.) 

gÌm§V narjm 

{Xgå~a, 2022 

 

~r.Or.dmB©.gr.Q>r.-131 : ^m¡{VH$ Am¡a g§aMZmË_H$$ ^y{dkmZ  

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  g^r àíZ A{Zdm`© h¢ & àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE 
JE h¢ & Ohm± Amdí`H$ hmo, ñnîQ> Zm_m§{H$V AmaoI ~ZmBE & 

 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  H$mo g§jon _| g_PmBE : 52=10 

(H$) Ádmbm_wIr-Hw§$S> 

(I) gwZm_r 

(J) e¡b MH«$  

(K) {ZH$ nm°B§Q> 

(L>) g§a§Y«Vm 

(M) {ZHw§$M dbZ 

(N>) joÌ- ŷ{dkmZ 

(O) {ZXe© Š`m h¡ ? 

(P) nd©V_mbm 

(Äm) Jm|S>dmZm b¢S>  



BGYCT-131 4 

2. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m±  
{b{IE :  45=20 

(H$) àmdma Ed§ H«$moS> _| g§dhZ  

(I) O¡{dH$s` Anj` 

(J) ZXr H$s AdñWmE±  

(K) {h_ZX Am¡a CZHo$ àH$ma 

(L>) e¡b _| nmB© OmZo dmbr aoIr` g§aMZmE±  

(M) joÌ _| ^«§em| H$s nhMmZ Ho$ _mnXÊS>  

(N>) A{ddV©{ZH$ g§{Y`m± 

(O) g_wÐ AY…ñVb {dñVmaU Ho$ à_mU 

3. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 110=10 

(H$) n¥Ïdr Am¡a e¡bm| Ho$ Am`w {ZYm©aU H$s {d{Y`m| H$s MMm© 
H$s{OE & 

      AWdm 
(I) ^yH§$n, Ádmbm_wIr Am¡a nd©V {Z_m©U KQ>ZmAm| H$s ßboQ> 

{ddV©{ZH$ ì`m»`m H$s{OE & 

4. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 5+5=10 

(H$) (i) ^y{dkmZ AÝ` {dkmZm| go H¡$go {^Þ h¡ ? BgH$s 
{ddoMZm H$s{OE &  

(ii) ^m¡_Ob Ho$ gVhr àH$Q>rH$aU H$s ì`m»`m 
H$s{OE & 

      AWdm 

(I) (i) A§VamnmX H$moU Ho$ AmYma na dbZm| Ho$ 
dJuH$aU na {Q>ßnUr {b{IE & 

(ii) nd©VZr à{H«$`mAm| Ho$ à_mUm| H$m dU©Z H$s{OE &  


